MULTIPLICATION: NEGATIVE DECIMAL NUMBERS (H - SET 2)

CHALLENGE

Name:

Time: Score:

151 —5 % (0.089 =
52)(0.011 x 476 =

153) (.01 x 146 =

51 —0.002 x (—418) =
) —1 % 14.2 =

56 (0.001 x (—0.007) =
57 (0.001 x 0.0053 =
159 —0.0008 X (—409) =
159 1.1 X 26.7 =

w0 0,01 X (—0.0206) =
61) 8§ x (—1.38) =

) —0.04 x (—=1.51) =
1) 0.6 X (—3.51) =
600,002 x (—420) =

165 —(.01 x 0.465 =
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0.07 x (—0.0104) =
—7 X (—3.65) =
—0.6 x (—0.188) =
0.0004 x 18.9 =
—0.001 x (—0.35) =
0.0005 x 3.04 =
0.02 x 32.6 =
0.0009 x 0.0455 =
0.0007 x (—0.0355) =
0.6 X 16.7 =
—1x12=

—0.002 x 1.66 =
0.01 x (—=0.25) =
0.09 x 73 =

—0.0009 x 32.1 =
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